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30197622 |pninp, A4 dnpdwnh /21x29.7/ Q2 | wnuy500hwin 1950] 48,750.0[25
30192137 [dwwhw, gpwdhwnb dhonynd, hwuwpwy Q hww 80.0 4,000.0{50
30192121 [qgphy qunhywynp Q2 hwuwn 130.0 26,000.0200
rpARrwwwuwlutn, npunbin pnrbpp dhwgynd Gu onwlubpny L
30197200 |pryeh wiipwyubin Q2 hwwn 800.0 20,000.0(25
30197233 |pnrwwwlwl, phNY, pnRjw ‘ Q2 hwuwn 75.0 3,750.0|50
19263200 tc;r;t::&ﬁwhw;hﬁ ghpp, GwuywG, 70-200k9, tnnnwilh, uwhuwy as hun 1,000.0 3.000.0/3
30192100 [rtinh( hwuwpwy Y4 hwn 80.0 4,000.0{50
30199281 | 6pwp L4 huwitn 20.0 4,000.01200
24910000 | unuh(d Q2 hwtn 450.0 2,250.0(5
24911200 | unuh(d tdniuh Q2 Uag 400.0 400.0[1
30197322 | Ywphs, 20-50 pbpph hwiwp Y4 hwtn 2,500.0 37,500.0]15
30197112 | Ywphsh dbnwnwiwpb Ywwbn, Sheht Q2 L unup/100hwn 250.0 12,500.0)50
30199420 | pninp Gynuibph hwdwp, unubddwépny @2 [nnup/100huwn 300.0 15,000.0]50
39263410 | ubnuiwdy, Ukd qz hun 75.0 1,500.0]20
39263530 | ubindwl, thnpp _ q2, hwwn 35.0 875.0[25
30192720 | qéwliohs Q2 huwwn 250.0 7,500.0(30
22811150 | Gnpwinbiinpbp Q2 hwn 450.0 54,000.0[120
30192125 | dwpybpbbp Q2 huwwn 350.0 5,250.0[15
30192125 | dwpybpGbp Y4 hwin 500.0 1,000.0]2
30192780 |bowpwdwhy Q2 winuh/hwin 1,000.0 5,000.0|5
30192781 |bpwpwdwlhs pnpeb Q2 nnup/hwin 1,400.0 7,000.0(5
39292500 |pwlnG 5 Y4 hwwn 150.0 1,500.0]10
30192760 | uphs, undnpwywi Q2 hwun 150.0 4,500.0]30
30192160 |[unpjultip Y4 hwun 350.0 1,400.014
39241210 |dlypwin qpuiubtjwlwihu Q2 huwtn 450.0 1,800.0|4
30197122 |Ynqud, wiwuwmdwub guhyny Q2 nnup/hwn 300.0 900.0(3
wn(hdbipwihu hupbwlwsniu dwwwybl, 19ddx364 ar b 50.0 250.0l5

30192220 |gqpuwubbjwlwiht, thnpp
30192114 |pwlwp, Yuhph pwpshlh hwdwp Q2 hww 700.0 1,400.0|2

30197231 | pnpwwwlwly, ynhdbpwiht pwnwup, duwj| Q2 hwuwn 12.0 24,000.0{2000




t[bumpwqunlpjwu pwzrunm

39831245 lodwn, htinnly Q2 thwp 450.0 20,250.0{45
39812600 | dwppnn dwéntylbn L thnphlbp Q2 hwwn 300.0 7,500.0125
39812600 [ dwppnn GwénLybp L thnahObp 92 {hwp 500.0 250.0{0.5
39812600 | dwppnn Gwéntybbp L thnzhltp Q2 hwun 750.0 3,000.0(4
33761000 [qniqupwGh pnine, pnipnlng 9, hww 140.0 168,000.0{1200
39513200 | pnpb wldkenghly, bpyzbpun Q2 hwn 200.0 10,000.0{50
39522250 | thnant hwywpdwd Yunpltp Q2 hwn 100.0 2,000.0{20
39831283 [huunuyh Jwgiwl jwp Q. hww 850.0 25,500.0]30
39812400 | Ywhnyph thwjibgdwl dhong Q2 hwuw 700.0 3,500.0[5
18421130 dbnﬁngﬁbn Q2. hwwn 250.0 12,500.0]50
39831271 |uwniug uwbhwwpwhhghbUhy Q2 hwtn 70.0 420.016
31531210 tb npwywl jwdw, 60W, 80W, 100W 20000

65310000 1,654,700.0 1
64211100 | hwlpwihl hbrwiunuwh( dwewjnipintbbbn UU npwd 229,200.0 229,200.01
66111200 |pwOlw)hG dwoawnipnullbp Uu npwd 12,000.0 12,000.0]1
72411100 | hwiwgwigwh( swrwnipintbltn dwuwnignn(bp (isp) Uu npwd 180,000.0 180,000.0]1
72411500 | hwiwgwOgwiht kebiph hnuphlgh SwrewjnipinGobp Ul npwd 28,800.0 28,800.0]1
72411700 | nnutGwiht wodwbnuiGbp Uu npwy 12,000.0 12,000.0]t
50111130 | wyuwnitipbOwObph yEpwlnpngiwl dwrewnipintlbn Uu npwd 125,000.0 125,000.0]1
thnfuwnpwihgnglbph htiwn Yuwdwé wwywhnjuwgpulywl
66511170 |6wnwjnipintllbp uu npwd 50,000.0 50,000.01
dbpbuwubph Yuywbwwnbinhubph hbin juwyws
98351110 |Swowjnipnibbbp Us il 12,000.0 12,000.01
wiwqwi dwewnipinLGab UU wy 18,000.00 18,000.0{1
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